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1] A) Choose the correct answer:
| (1) Thetwo straight lines which represent the two equations: E
T G i T :
| a) Perpendicular c) Coincide ;
| b) Parallel _d) Intersect and not perpendicular |
(2) The equation £ % =3 of iicnniunia Degree { X =Y 0} |'
X

. a) First b) Second c) Third ~d) Fourth i
| (3) Number of solution of the equation 2 X -6 = !‘."I in R is..... ‘I

a) 1 h) 2 £1 3 d} Infinite
l [B] By using a general formula, find in K the solution set of the I

equation =2 X=6=0, approximating the result to nearest two
decimal places. |

[Q2] Choose the correct answer:
(1} A number formed from two digits, its units digit = its tens digit

= X, then the numberis ..............
a) X2 h} 2 X c) 11X d) 10X%°
(2) 1fn(x)= _1{I{]-—ﬁ then K= ... Keld 3
a) —4 b} 5 c) -5 d) -—

(3) If A, B are two mutually exclusive events from the sample space

of a random experiment, then AnB =.............
a) @ b) S " ¢) Zero d] 1

[B] Find n (x) in the simplest form and showing its domain:
x*=2x—15 2x-—10
x2-9  x2—6x+9

n(x) =
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[A] If the set of zeroes of F: F(x)=a X*+bx+15is{3,5} Find the
value of each ofa, b

x2-4 s [x}_x?—xmﬁ
24x—6" M T 2 g

[BI I  nilx) =

Show that if ny {x) = n; (x) or not?

Find the common domain in which that ny(x) = na(x) ?

!
| [Q4]
[A] Find in the simplest form and showing its domain:
x%+3 x+9 (x—4)?
+
x3-27 x2—7 x+12 |
|

n(x)=

[B] A right angled—triangle, the length of one of right angled sides is
5 e¢m, and its perimeter 30 cm, find its surface area?

[Q5]

[A] If A, B are two events of the sample space of a random
experiment, and P (A)=0.6,P(B)=0.7,P(ANB ) =0.4 , Find:

O P(A-B) il

@ The probability of the occurrence of one of the two events at least

5— x? :
[B] IF k+i is additive inverse of the fraction — .
|} x4¢=— 3 x x—3

Find the value of K.

End of the questions
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[Q1]: A) Choose the correct answer:

(1) The equation3X+4Y+XY=5o0f....... degree
a) First b} Second c) Third d) Fourth

(2) The two straight lines which represented two equations |
IX+5Y=0,5X-=3Y=0intersect at the point ...

900,00 B (=53 (3.5 (3,5
| (3) If n (x) _T thenn™ 7)) e
a) =zero by =2 c) =3 d) undefined

B): By using a general formula, find in R the solution set of the
equation X ( X— 1) = 4, approximating the result tc one decimal
place.

[Q2]: A) Choose the correct answer:

(1) FXY=3, X =12, then ¥ =......ciuiue

a) 4 . b) 2 c) —2 ) £2

(2) If A, B are two n;u{ually exclusive events, then P (AnB)=..
a) b) 1 c} 0.5 d) Zero

(3) The domain of F: F(x)=X*+4is cccvrrerrrriunres

a) R—{2,-2} b) {zs-_z} R - @

B): Prove that ny(x) = ny(x) where:
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ﬁhifthedumainnfn{x]=-}+iis R—{0,4},n(5) =2.

Find the value of A, B I

B): Two acute angles in right angle triangle, the difference between

them is 50°, find the measure of each angle.

[Q4]
A): Put in the simplest form and showing its domain:
i 1
(X) = x?-2x 4—x?
MW= Y3 3242 x2+x-2

B): Find in R x Rthe solution set of two equations:

Y+2X=7 , (Y+2X-8)Y+X'=5 |l

[ELE] ]
A): Put in the simplest form and showing its domain:

x3-B x+3
—_—_— %
x24x — 6 X242 x+4

n(X) =

B): If A, B are two events of the sample space of a random
experiment, and P(A)=0.5,P(B)=04,P(AnB)=0.1, Find:
@P(AUB) @P(A-B) u
NS —— ..*-l._._-

End of the questions
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[Q1] A} Choose the correct answer: |

(1) The solution set of two equations X—3=0,Y=4in Rx Ris.. i
a) {3,4)  b) {(3,4)} o {(4,3)} d &

(2) If A, B are two events in sample space of a random experiment,
AcB thenP{AWB)=....c.....

a) P{B) b) P_{A} c) P{ﬁuri‘aB}l d) Eer-:-__
|[3} F3Y %5 =225 then Y = vooovevenrnces
a) 2 b) 15 c) Zero d'} 20

B):
Find in K. x K the solution set of two equations:
IX-Y=5,X+2Y=4

[Q2] A) Choose the correct answer:

i (1) The domain of the additive inverse of n (x) = x-3

-3
a) R-{3} by R—{-2} ¢c) R-{-2,3} d) R
|
|
i

x+2
x

(2) The set of zeroes of F (x).= X’ + 9in Ris c.coorevrcrennee

a) R b) & ¢} {3} d) {3,-3}
(3) The curveY = a X* + b x + C cut Y—axis at the point ...............
‘a) (0,b)  b) (b,0) c) (c,0) d (0,7)

Put in the simplest form: ?{".IEH:_ Lz
ut in the simplest form: n (X) = P I

And showing its domain
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A} Find the solution set of two equations in Rx R

[a3]

A} If A, B are two events of the sample space of a random
experiment, and P(A)=06,P(B)=05,P (A B)=0.3, Find

®P(AUB) @P(B")
B) Put in the simplest form: n (X) = o e
B} Putin the simplestform: niA) = ~Z7=7 " pE PRI
And showing its domain '
[Q4]
A) Prove that ny(x) = n; |
Wh N xXZ—x { ] w1 x2—-3 x+2
ere Ny (x)= 322 ' 2 T s i yrtax

B} By using a general formula, find in R. the solution set of the
equation %2 + 4 X + 1 = 0, approximating the result into two
decimal places.

- H

X—Y=0 U

y
x“-2x
B) fn(X)= (2-2) (#%+2) Find
@ n* (x) showing its domain
@ If n* (x) = 3, find the value of X.
PR | —
End of the questions
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1Q1] A) Choose the correct answer:

| (1) If Sis sample space , then P(S) = ..... .
I a) 1 b) 0 c) Half d) -1 ‘l
(2) If the algebraic fraction =— is additive inverse to == then a=..
xX+3 x+5 ||

I a} - h] —3 c) 5 d) 3
_ : i SR ]
3) 2 _ L |
Ii X" +y" =5xy, then 2t T ]l
a) 32 b) 23 c) -32 d) -23 |

B): By using a general formula, find in R the solution set of the

: 2 2 gboo e
equation ol 1- —~ + approximating the result to nearest

two decimal places. - "

[O2] A) Choose the correct answer:

{1) If the two equation : 3 x - 3y=8, 2x+ky=m has infinite
solutioninR xR then,9km-=....

=10 16
a —— b —_ -16 d) -160
) 3 ) 3 c) )
(2) If the set of zeros of the function f where Fix)=kx+3is @ |
thenk=.....
a) -3 b) 3 ) 0 d) 1

(3) The function f: f (X)= E has additive inverse in the domain

Ia} B—{E} b) R-{5} ¢c) R—{5,-2} d) R—-{5,2}

- o o e




ath que stions bank , = _‘Tha Third?epm'am- Algubra

|

B:lf:ny(x)= “E n, (x)= 1+3x+ prove thatn, (x)=n; (x)
l For all ualues c:fx in common domain and Find this domain? ||
i |; !3! |

A) A rectangle the length of its diagonal 5 cm, its perimeter 14 cm.
find its dimensions.

| B) Put in the simplest form and showing the domain: i
x—5 A3
n(x) = 2x2-15 x+18  15-13 x+ %2
l i
[Q4] If the set of zeros of the function n where N(x)= —:—::i
is {3}, itsdomain R—{2 } find the value of a and b ? ]i

|

B) If AB are two events of the 5ample space of a random
Experlment,andP{A)nP[A\'} ,P(B)=—, PlA- :I'-—-"Ftnd ]

@ The probability of nﬂn—ﬂccurrence of A,B tngether
@ The probability of occurrence at least one of them. “

x2-2 x-15 x?-25

[Q5] A) Find in the simplest form: n (X) = —=—— + T3 37

And showing its domain. If n (k) =%, find the value of K

v u

3

B) In the opposite figure:
The curve of F: F{x) = kX’ + m X+ n

Cut Y-axis in c(0,6) , A(1,4)is the vertex curve  €(08] |
Find the value of K, m, n ’ AlL4)
X + X

End of the question
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[01] A) Choose the c:urrect answer:

(1) If A'is an event in a sample space of a random experiment, and

PANIAY =7
a) 1 b) 0 &) — d) -1
e e e e r
2 x%-x-2 [
(2) The setof zeros of F (x)=—=——I5 ..ccceenie 5'
x2—-4
&) {-1,2} b} {-2,2} o {-1} d) {-2}
(3) Two straight lines3X+5Y=0,5X~-3Y=0intersectin .........
" : First Second Fourth '
a) Originpoint  b) quadrant c) quadrant ) quadrant !

—_n

B): By using-a general formula and, find in K the solution set of the
equation X + 4? = 6, approximating the result to nearest three

decimal places

[Q2] A) Choose the correct answer:

(1) In the equation: a X? + 6 X + 3 =0, has no solution in R then a

a) ]1=0,3[ b) 13,%[ ¢ {3} d) {-3,3}
(2) 1f -1 +x% = 3x, then x + §= .........
a) 1 b) 3 | e) -1 d) -3

TS e —-—

xi—x -1

(3) P =
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B)}: A rhombus the difference between leng{hs of its diagonals 4 cm,
its perimeter 40 cm. find its diagonal lengths.

2x+6 3x—-4
+

A} Find in the simplest form: n (x) = e | Tad ke

And showing its domain

x2—4 _ x?=x—6
B) if ny (%) el ns (x) = 75 Prove that nyx)=n;(x) 7
o bt e _ x%-2x-15 _  2x-10
[Q4] A) Find in the simplest form: n (x) = 25 Bt ih
And showing its domain
: a SR . -
B) If the domain of n(x) = ey R-{3,-4},n(2)=7, find the

valueofa,b?

[Q5] A) If AB are two events of the sample space of a random
experiment, and P (A) = % , P (B) =%, P (AMB) = % Find:
@OP(AUB) @P(B=-A)

B) In the opposite figure:
If the equation of AB:X+Y= 3,
Equation of CD:2X+Y+4=0

Find the area of the shaded part
End of the question
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[Q1] A) Choose the correct answer:

(1) if the domain of n (x) =i;1is R—{2) thena=......

=

a) -2 b) =1 c) 1 d) 2
(2) FX=Y=1,(X=Y)+Y=1,thenX=oroeon.....
a) -2 b) -1 c) 1 d) 2

(3) If Ais an event in a sample space of a random experiment, and P
(A)= 4 P(AY), then P(A) = .........

a) 4 b) 1 o) - d) —

B): By using a general formula and without using calculator, find in R the
solution set of the equation X* =8 X +3=0,andv 13 ~36

[Q2] A) Choose the correct answer:

(1) The two equations 3 X-2Y=5,3 X-2Y =K, have infinite
number of solutions when k = ......

a) 3 b) 2 c) =5 d) 5
(2) If X = 1 is one of the set of zeroes of F { X ) = X’ =3 X + C, then

+++++++++++

a) Zero b) 1 c) 2 d) 3

(3) Which of the following algebraic fractional in the simplest form?
x+1 h i+1 ] X X
e B ) x%—1 ¢ x4 ) xt4x

- z -
B): Find each of my(x) = ——— , ny(x) = ——=> in the simplest form

2 x44 ri44 x44

showing the domain of each one then show that if n; = n; or not?

Give the reason

Extriasts T2 - Iﬂll)=@=ﬁ}mrf e )
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[@3]
A) Find in R X R the solution set of two equations:

X=2Y+3,Y'-X=0

B) Find in the simplest form and showing its domain:

A(x) = x%-9 B xt—4 x
xf-x-6 x°-2x-8
[Q4]
A) If n is an algebraic fractional function where n (x) = E_T:' , find the

domain of n. If n (5) = 1 find the value of expression: 2 b-11

B) A bag contains 20 cards numbered from 1 to 20, on card is chosen
randomly, find the probability of chosen card has a number:

@ Divisible by 3 @ Odd and divisible by 5

[Q5]
A) Find algebraically the solution set of two equations:

X+Y-5=0,3X+Y=17

x2-3 x+2 24+ 2x
2 X =3
e+ x—6 -+ x-2

B) Findin the simplest form: n (X) =

And show its domain, and then find if possible the value of n (1)

sss Ind of the questions sss
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[Q1] A) Choose the correct answer:

(1) Thesetofzeroesof F(x)=X+3is..........

a) R b) R—{3} c) {3} d) 3
(2) The two straight line X =4, Y = 3 intersecting at point ....
a) (4,3) b) (0,0) c) (3,4) d (-3,-4)

(3) X, Y are two mutually exclusive events in the sample space of
a random experiment, then P (XY ) =.......
a) & b) Zero c) {} d) 1
B): find the solution set of two equations:
X-Y=0 , XY=4

[Q2] A) Choose the correct answer:

(1) The two first degree equations in one variable which have
infinite solution are represented graphically with two straight
lines are.......ceeueuens

Interest at

a) Parallel b) )
one point

c) Congruent d) Disjoint

(2) IfF[x}=E*wherexEH—{?_.-?},thenF{—2}=.........
-1 1 1 1

by —— ) — d)

f(-2) f(2) fi2) f(-2)
(3) If the domain of function n where n ( x ) = ﬁ- is R
ThenK................. ZBTO
a) = b) < c) > d) <

B): A rectangle with a length is more than their widths by 5 cm. if the
perimeter of the rectangle is 18 cm, find the area of rectangle

Extreuses T2 - 2021 —— ~gfrtat R reon j
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[Q3]
A) Find n (x) in the simplest form showing its domain:

x2-3 x+2 3x-15

= ¥ —
n (x) xZ-1 xi-4 x-5

B) By using a general formula and without using calculator, find in R the

solution set of the equation X + % = 5, approximating the result to

two decimal places.andv 17 =412

[Q4]
A) Find n (x) in the simplest form showing its domain:
o J_x2+x+1 o oxf-x
METE1 T ¥ 2am
x%-9 4x-x2

B) Find in the simplest form: n (X) = P R + -2 -8
And show its domain, and then find if possible the value of n (3)

[QS]

A) If A, B are two events of the sample space of a random experiment,
1 2 1
andP(A}-?,P[B]-?, P[AﬁBj—E, Find

OP(AUB) @P(B-A)

B) If ny, n; are two functions, Prove that ny = n; where

X +5x (x) 2x
N+ X)) =
2410 x+257 7 2 x4+10

n (x) =

eoe Tnd of the questions see
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[Q1] A) Choose the correct answer:

(1) The intersection point of two linesX+2=0,Y=Xis .......
a) (2,2) b)) (2,0) ¢ (-2,-2) d) (0,0)

(2) 1fn(x) = E is an algebraic fraction, then the domain in which it
has a multiplicative inverse is ........c.ovevee
a) R-{2} b) R—{-1,2} ¢} R-{-1} d) {-1,2}

(3) If the two equations X +2Y=1,X+KY =2 have a one solution
iNRxR, the K# ooovecviiinenen.

a) 2 b) 4 c) -2 d) -4

B): By using a general formula and without using calculator, find in R the

solution set of the equation X ( X = 3 ) = =1, approximating the result
to one decimal place

[Q2] A) Choose the correct answer:

(1) If the curve of quadratic function passing through the points
(2,0), (-3,0), (0,-6), then the solution set of F(x)=0inRis .....

a) {-2,3} b) {3,2} c) {2,-3} d) {-3,-6}

(2) The simplest form of n (x) = ;;_J; where X € R={3}i5 wooeeneee.

a) 1 b) -1 cj 3 d) -3

(3) If Ais an event in sample space of a random experiment, then
P(A) = ..o,

a) 1 b) -1 c) 1-P(A) d) P(A)-1

B):If (a, 2b)is asolution in R of two equations 3 X-Y=5,X+Y=-1,

Find the value ofa, b

Extriasts T2 - Iﬂllw-.-f}mrf o rraon )
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[Q3]
x%—4 x2-x—6

Al ny, n; are two algebraic fractions where ny(x) = —=——, nalx) = ——

+X

prove that ny(x) = n; (x) for all the values of X which belongs to the

common domain and find this domain

B) Find in R x R the solution set of two equations

X+Y=3,X'+XY=6

[Q4]
A) Find in the simplest form: n (X) =
And showing its domain

243 x x-2
x242 x-3 x2-3x+2

B) Find in the simplest form and showing its domain:
S_x2-2x x242x-15

x . : :
n(X)= R X B 622952 then find n(7), n (3) if possible

[@5]

A) If ny(x) = E , and set of zeroes of ny(x) is {5} and domain of ny(x)
is R—{3}, find the value of a, b.
If na(x) = E find n,(x) + n; (x) in the simplest form

B) If A, B are two events of the sample space of a random experiment,
andP(A)=0.7,P(B)=0.6,P(AnB)=0.4, Find
@P(AUB)
@ The occurrence of one of the two events but not the other

s+ Tnd of the questions s+
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[Q1] A) Choose the correct answer:

(1) The solution set of the equation X + 4 =0in RS ..coerveerv..

a) @ b) {2} c) {-2} d {2,-2}
(2) Ifa®*~b’=6,a-b=vV 3 ,then(a+b)’ = ...

a) 2v' 3 b) 3v 3 o) v 3 d) 12

(3) If A, B are two mutually exclusive events, thenP (AN B)=.....

a) Zero b) @ c) — d) 1

B): By using a general formula and without using calculator, find in R the

solution set of the equation X* +2 X -1 =0, approximating the result

to one decimal place.

[@2] A) Choose the correct answer:

(1) The set of zeroes of F (x) ==3 Xis e,

a) @ b) {0} c) {3} d) R-{3}
(2) The simplest form of n (x) = H where X # 3 is ............
a) 1 b) -1 c) 3 d) -3
(3) 1f the domain of n (x) = #J:M isR—{2}, thenK=............
a) 2 b) -2 c) 4 d) -4
Bl fn () = 512

Find n™" (x) in the simplest form showing the domain of nt(x)

Extreuses T2 - 2021 —— ~gfuntad R reveon )
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[a3]

x2-2x+1 -1
-1 7 alix+1

A) Find in the simplest form: n (X) =
And showing its domain

B) Find in R x R the solution set of two equations

Y-X=2,X'+XY=4

[Q4]

A) If A, B are two events of the sample space of a random experiment,

and P (A)= —,P(B)= —,Find P (AUB)if

OP(ANB)=—
@AcCB

B) Find in R x R the solution set of two equations
X=Y+4 , 3X+4Y=5

[QS]

2 X
_llfnl':x} 3311 1{]"::3 3 x

Prove that ny =n;

o _ 3 x-6 9
B) Find in the simplest form: n (X) = Z-a v 2

And showing its domain

ess Ind of the questions see
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[Q1] A) Choose the correct answer:

(1) The solution set of two equations X=3=0,Y=4inRxRis
a) (3,4} b) {(3,4)} c) {(4,3)} d) @

(2) If A, B are two events in sample space of a random experiment,
AcB,thenP(AUB)=.eereneeen,

++++++++

a) P(B) b) P(A) c) P(AmnB) d) Zero

(3) 1f3Y%5"=225then Y= oo,

a) 2 b) 15 c) Zero d) 20
B):

Find in R = R the solution set of two equations:

3X-Y=5 ,X+2Y¥=4

[Q2] A) Choose the correct answer:

(1) The domain of the addative inverse of n(x) = 2

x—3
a) R—{3} b) R—{-2} c) R—{-2,3} d} R
(2) The set of zeroes of F(x) = X* + 9 in RS vecevervnnnn.
a) R b) @ c) {3} d) {3,-3}
(3) The curve Y =a X’ +b x + C cut Y-axis at the point

!!!!!!!!!!!!!!!

a) (0,b) b) (b,0) c) (c,0) d) (0,7)
B):

Find in the simplest form: n (X) =
And showing its domain

Extrensts T2 - 2021 —— ~gfrd R reaon )
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[a3]

A)l If A, B are two events of the sample space of a random experiment,
andP(A)=06,P(B)=05,P(AnB)=03, Find

OQP(AUB)

@pP(B')
B) Find in the simplest form: n (X) = = 2x—2
B) Find in the simplest form: n ]'x3—1:+1 Freil

And showing its domain
[Q4]
A) Prove that ny(x) = n;
xi—x x2-3 x42

Where nmx)=—z—= »m =G 770>

B]) By using a general formula and without using calculator, find in R the
solution set of the equation 2X* + 4 X + 1 = 0, approximating the
result into two decimal places.

[as]

A) Find the solution set of two equations in R x R

X-Y=0 ,h=—

x2-2x
(x-2)(x%*+2)

B) Ifn(X)= Find:

® n' (x) showing its domain

@ Ifn" (x) = 3, find the value of X.

ess Tl of the questions see
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[Q1] A) Choose the correct answer:

(1) If the two equations X=3Y=5,2 X+ KY = 10 have infinite
number of solution, then K = ..........

a) 10 - b) 6 c) -6 d) 3

(2) FF(x)=X"-m,Z(F)={3},thenm=............

a9 27z~ 93  dVI
(3) FAB=3,AB*=9,thenA’B=........

a) 3 b) 9 ) — d) —

B): Find n (x) in the simplest form showing its domain
x2-12x + 36 | 36— xt
xi-px T4 x+24

[@2] A) Choose the correct answer:

(1) If the probability that a student in exam is succeeded = ?}* then
the probability his failed is ...............

nix) =

_El] 10% b) 20% c) Zero d) 1
2 : =1 __ 5 em. -
(2) If the domain of F (x) = " x+kISR {0,3},thenK=_...
a) 3 b) 6 c) 5 d) -3
(3) If Xis a negative number, then the greatest one of the following
a) 7X b) 7+X ) 7-X d) —

B): If the perimeter of rectangle is 14 cm, and its area is 12 cm’. Find the

length of its dimensions.

Extrists T2 - 2021 e (1 | ) e vl CKrviton )
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[a3]

Al Ifny (x) ===, n, (x) = =—

X xZ4x

Show that if n; = n; or not? Give reason

B) If A, B are two events of the sample space of a random experiment,
andP(A)=03,P(B)=m,P{AwB)=0.7, Find the value of mif:
@P(ANB)=0.2
@ A, B are two mutually exclusive events

[Q4]
Al Ifn(x)=

ri-5x
(x=5 )} x%+1)

® Find n™' (x) showing its domain
@ Ifn* (x) = 2, find the value of X

B) A point moves on the straight line 5 X =2 Y = 1 where its Y-coordinate
is twice the square of its X-coordinate. Find the coordinate of this
point

[Q5]

A) In the opposite figure:
The curve represents F(x) = a X*+bx+c,a=0

If the curve passes through point (0, 0) y o oX
And the equation of line of symmetry X = 2
And the maximum value Y = 2. Find valueofa, b, c
\
1!F

B) Find n (x) in the simplest form showing its domain
r“+:2—2__2x-2
x—1 1-x

n(x) =

voe Ind of the questions s«e
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[Q1] A) Choose the correct answer:

(1) If the two equations X+2Y=1, 2 X+ KY =2 have one solution,

the K #...........

a) 1 b) 2 c) 4 d) -4

(2) If the domain of n; (x) =-£Eequal the domain of n, (x) =:+_i ]
then K= ...covvveeneen.

a) 8 b) -8 ) 24 d) -3

(3) Twice a number formed from two digits, its units Y and tens X is
a) 2Y+10X b) 2Y+20X c¢) 2X+10Y d) 2x+20Y

B): By using a general formula and without using calculator, find in R the
. . 5 :
solution set of the equation —- -% =1,andV 6 =245

[@2] A) Choose the correct answer:

(1) A bag contains 20 cards numbered from 1 to 20, on card is
chosen randomly, the probability of chosen card has a number
Divisible by 2 and 3 together = ...........

1 f 3 13
S T ) 20 4 =
(2) The set of zeroes of F(x) = x:;ff iNRIS e,
a) {2} b) {-1} ¢ {-1,2} d) {-2,2}

(3) X +Y’ =2XY,thenX=Y= oo....

a) Vv2XY b)) Vv2 ¢) Zero d) +1

B):
IfthednmaIanF[x}=%+I:isﬁ—{ﬂ,4}andF{5]=2,findthe
valueofa,b

Extriuts T2 - 2021 e (13) = srnad (Rt )
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[a3]

Al Prove that ny(x) = n; (x) for all values of X which belongs to the
common domain and find this domain,

xt-4 ) x
— Ny (X =
x2ix-6 ! ?

3 x2-px

x3—gy

Where ny(x)=

B) If A, B are two events of the sample space of a random experiment,
andP(AnB)=02,P(A-B)=03,P(B-A)=0.4, Find
@ P(B) @P(AUB)

[Q4]

2 2
X“+3 x+9 xc“-x-12
A) Find in the simplest form: n (X) =

+
x3-27 9— x2

And showing its domain

B) If{1,2)isasolution of two equations, find the value ofa, b
Where aX+bY+5=0,2aX+b¥Y-2=0

[a5]
?-3x _
A) If n(x) = 2 5 xt6 Find:

® n' (x) in simplest form and showing its domain

@ Ifn' (x) = 2, find the value of X.

x%+2 x-3 ) x4 x-2
x245x+6  x*-4

B) Find in the simplest form: n (X) =

And showing its domain then find the value of Xwhenn (x)=3

sss Tnd of the questions see
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[Q1] A) Choose the correct answer:

(1) If X ==3is a solution of equation X’ +m X=9=0, thenm = .....

a) 3 bh) —3 c) Zero d) -9

(2) The domain of addative inverse of n (x) = ﬁ 5 iecmmbimiiernite

a) R b) R—{0} c) R—{3} d) R-{0,3}

(3) Number of solution of two equations X -% Y=4,2X-Y=2
in R?iS v.vovvveen. sOlULION

a) One b) Two c) Infinite d) Zero

B): By using a general formula and without using calculator, find in R the
solution set of the equation X + % = 6, approximating the result
into three decimal places.

[Q2] A) Choose the correct answer:

(1) If A is an event in sample space of a random experiment, and
PIA)=4P(A'), thenP (A) oo,

_a) 0.8 b) 0.6 ::1 0.4 d) 0.2
(2) Ifthesetof zeroesof F:F(x)=aX+6is{—-2},thena=.......
a) 3 b) 2 c) -2 d) -3
(3) IfFY=1-X,(X+Y)'+Y=5thenY=.....
a) 5 b) 4 c) 3 d) -4
B):

The area of rectangle is 77 cm’, if its length decrease by 2 cm and the

width increase by 2 cm it will be square, find the area of the square.

Extreases T2 - 2021 —— ~gfuntad R reveon )
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[Q3]
A) If the domain of F: F (x)=———isR—{2,c)

xi-=5x+m

Find the value of m, c

B) If A, B are two events of the sample space of a random experiment,

andP[B]=T1,P{A-B}=‘—:,FindP{A]if .............

@P(Am31=1—‘2 @BcA

[Q4]

Z_ —
A) If n (X) = r*-2x 4— x°

Yt+ 334222 xP4x-2

@ Find n (x) in the simplest form showing its domain
@ Find the solution set of n (x) =0

B) IfF(x)=aX’+bandF(1)=5,F(2)=11
Find the value F (4)

[as]

A) Prove that ny(x) = n; (x) for all values of X which belongs to the
common domain and find this domain.

xi4x-12 _ xt-2x-3

x24+5x+4 ' na (x) = X242 x+1

Where ny(x) =

x4-2x-15  x%-25
x2-9 " x2-3x 1
And show its domain, and then find the value of aif n (a) = -

B} Find in the simplest form: n (X) =

soe Ind of the questions see
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[Q1] A) Choose the correct answer:

(1) The two straightline3X+5Y=0,5X-3Y =0 intersecting at ....
a) Origin point b) First quad. c¢) Second quad. d) Fourth quad.

S : 7 .

(2) The addative inverse of the fraction x'+ 15 vrerereennes
7—x X +7 —(x +7) x—7
a) x+5 _b] 5-x c) 5=X d) 5—x

_{3] If Ais an event in a sample space of a random ;:periment. and
2P (A)=3P(AY), then P(A) = ..........
a) 0.8 b) 0.6 c) 0.4 d) 0.2
B): By using a general formula and without using calculator, find in R the
solution set of the equation «lx- + I—HE =1 , approximating the result
into three decimal places.

[Q2] A) Choose the correct answer:

(1) In the equation aX'+bX+C=0,ifb’-4ac<0, then the
number of roots of the equationin Ris ..............

a) 1 b) 2 c) Zero d) Infinite

2 _ x-1 -1 _

(2) Jfn(x)==— thenn™ (4) = oo

a) -1 b) Zero c) 3 d) Undefined

(3) IFX*=Y'=6,X=Y=V3 , then(X+Y)=.....

a) 2V3 b) 3v3 o V3 d) 12

B):

If the length of diagonal in a rectangle is 5 cm, and its perimeter is

14 cm. find its area?

Extreasts T2 - 2021 eeexoo—{ (1 7) == ~fwtaf (Xrrrom )




Fmp E- Aingm %Sm Terw 2021 )

[a3]
A) |If the set of zeroes of F:F(x) =
is R = {2}, find the value of a, b.

ax®—6x+8

prraral {4}, and its domain

B) If A, B are two events of the sample space of a random experiment,
andP(A)=—,P(AUB)=—,P(B)+7P(AB)=2
Find @P(B) @P(B—-A)

[Q4]
xi-4 5—-10x

Al Ifn(X)= x4+ x-2  3x-1-2x2
Find n(x) in the simplest form showing its domain

B) In the opposite figure: L, 1Y L,
\

\ 0
And equation of L, is X+ Y = 6 where L, n L, = {b} X A‘\ X

If the equation of Straight line Ly isY=2X,

O is origin point, A € X X\ . Find the areaof AOAB Y'
[Q5]
A) Prove that ny(x) = n; (x)
x2-x x2-3 x+2
Where n;(x)= oy L (x) = 32244 2
xt+x-6 ) w3-2x%4 x-2

B) Find in the simplest form: n (X) =
And show its domain.

-
X245 x+6 x342 x24 x42

sss Fnd of the questions se«
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[Q1] A) Choose the correct answer:

(1) If the two equations X+4Y=m, 3 X+ KY =21 have infinite
number of solutioninR xR, then K+ m=..........
a) 19 b) 20 c) 21 d) 22

2 5x .
(2} The common domain of two fractions e ] R
xe=1 Xe—Xx
a) R—{1} b) R—{0,1} c¢) R—-{-1,1} d) R-{0,-1,1}
(3) If acoinis throwing once, the probability of appear a tail is .......
a) 100 % b) 50 % c) 25% d) Zero
B): By using a general formula and without using calculator, find in R the
2
solution set of the equation : + ; X =-=2 , approximating the

result into three decimal places.

[@2] A) Choose the correct answer:

(1) If the solution set of the equation 4 X*+4 X+ C=0inRis { - % }
then the valueof C = ..............

a) 2 b) 1 0 -1 d) -8
(2) _xtex _ _
Ifn(x]—xz_],n "(K)=3,thenK= ...
1 1 3 1
a) —— b) — 0 = d) 1—
(3) 1f domain ufF[x}=£is R—{—-21},and F(0) =3, then a + b=......
a) 2 b) 6 c) 8 d) 10

B):
Find in R x R the solution set of two equations

X+Y=2 | -i-+ IT=2where){ 20.Y=0

Extrists T2 - 2021 e (19) b vl CRrtiton )
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[a3]

Al If ny (x) ==, ny(x) =

x*+bx
x3+a x?4x+5

and ny = n,. Find the value ofa, b

B) If A, B are two events of the sample space of a random experiment,
andP(A)=06,P(B)=0.7,P(AmB)=0.4
Find @ The probability of non-occurrence of A, B together.

@ The probability of occurrence at least one of them.

[Q4]
x—6 x-5
+
2x2-15 x+18 15-13 x +2 x2

A) Find in the simplest form: n (X) =

And show its domain,

B) In the opposite figure: Lz\\* Y L,
If the equation of Straight line Lyis Y =3 X, x -‘é
And equation of L is X + Y = 8 where L; m L; = {b} \=}(
O is origin point, A € YY\ . Find the area of AOAB v

[as5]

x*-2 x-15 L _2x-10
x2-9 T x2—-6x+9

A) Find in the simplest form: n (X) =

And show its domain.

B) Ifn(x)=aX—-3,F(x)=a’"X"—12X+9and Z(n)=2Z(f)
Find the valueofaand Z( F ).

voo End of the questions see
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1 Giza Governorate

Answer the following questions :

Choose the correct answer :
(1) The set of zeroes of the function f : where f (X)) =~3 X is
(@ {0} (b) {3} ©{-3} (@ - {3}
(2)If A C S of arandom experiment s P (A) =P (A) sthen P(AY= oo
(a) 1 (b) 5 © % @ §
(3) If X is a negative numbers then the greatest number of the following is

(a)5 X (mér &5 + % @)5-X

(a) The domain of the function f : f (X) = X; 2|

(a) R R={=4 _ OR-{-4:3} @Y
(5) It the sum ol ages of a father and his sun now is 47 years » then the sum of their ages
after 10 years =
(a) 27 [e) 57 (d) 67
(8) If the two cquations X +2y =1 s 2 X+k y=2has only one solution
s then k #

(a) 1 ()4 ()4

[Bl [a] Find in R x R the solution set of the two following equations algebraically :

X+3y=7 » 5X-y=3

[b} Find n (X) in its simplest form » showing the domain of n :

‘+X  X+5
X XG4 H—S

& (2] Find in R the solution set of the following equation by using the general rule :
X?-4X+1=0 rounding the results to two decimal places.

X243 X
X24+6X+9

» then prove that : n, =n

bjIfn, (X)= g X} =
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@3 [al If A and B are two events {rom a sample space of a random experiment » and
P(A)=07 , P(B)=06 s P(ANB)=04 ,then find:
(HPAUB) (2)P(A-B)

[b] Find n (X) in its simplest form s showing the domain of n :
X7 -8 o X+l

n(X)=— 7
X°=-3X+2 X°+2X+4

&l i2a] Find in R xR the solution set of the two following equations :
X—y=1 » Xz—y2=25

2
[b] If n (X) = _%_
(X-3)(X"+2)

s then find : 5~ ! (X) in the simplest form » showing the domain of n™ o

- Alexandria Governorate

Answer the following questions :

[ﬂ Choose the correct answer from those given ones :
(D 1A 5B are two mutually exclusive cvents s P(B)=0.5and P(AUB)=0.7
sthen P (A) = '
(a) 0.02 * fe)bis (d)0.13
(2 (X+ 1) = |
(Y% 4l T {* 42 %% 1

(3) The additive inverse ol the fraction e T

2 2
Joji 4 ¢ (d) ;_
3 -3 x%_1

(4) If X is a negative real number s then the greatest number of the 1”0110Wing numbers
IS v,
(a) 34X (b) 3%

(5)IfX=2andy=3 sthen(y -2 %)=
(a) 10 (by-- 1

(6) The point of mtersection of the two straight lines X =2 and X + y =6 is

(a) (2 56) (h) (2 54) ©) 4 »2) (d) (6 52)
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fE;?I [a] If A and B are two events of the sample space (S) of a random experiment such that :
P(A)=07 s P(A(NB)=03Find:P(A-B) '
[b] Find n (X) in the simplest form showing the domain of n > where :

$enman | B0
5 =4 D o

n{(X)=

[E) (2] Find the common domain of n, > n, to be equal such that :

xX¢e3x+2

n (DC)=—~X2 3 My (X} =

[b] Find in R x R the solution set of the two equations : X +y =7 e y2 =225

@ [a] Find n (X) in the simplest form showing the domain of n s where :
X+3

X-2" x2_x-2
[b] Find in R the solution set of the equation : 3 X*-5X-4=0

» by using the general rule » rounding the result to two decimal places.

] [a] Find in R x R the solution set of the two equations graphically :
X+ y = ’ A y= %

[b] If sct of zeroes of the function f: f(X)=a X 46w bis {0 s 1 }

find the value of each two constants a and b

Answer the following questions ;

() X-3 (b)2X+3 © J (dH3-2X

(2) The domain of the function f where f (X) = i is

(@ R-{5} BYR—4-5} ) I8 (@) R—{zero}
(@) I[P (A)=4P(A) sthen P (A) =
(a) 0.8 (b) 0.6 () 0.2

(a) If X is a ncgative number » then the greatest number of the following 18

(@) 5 - X B)5+X" . (c)% )5 X
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{5}11"2/><37 : 6K athenk* I
(a) 14 (b) 7

Chy y2 =2 (X +y) where (X + y) # zero s then (X ~y) =
(a) 2 (b) 4 {c}6

B airn-=

x3-8 x +2X+4

x¥2_.x-2 3x%2.x-3

Find n (X) in its simplest form showing the domain of n

ibl Find in R x R the solution set of the two equations :
2X=1-y > X+2y SmRxIR

[a [a] If A » B are two cvents in a random experiment s P (A)y=0.7 , P (B) 0.6
andP(ANB) =04

Find : ()P (A UB) . (@P(A-B)

{hj Fmd the solution set of the two equatlons wWSR=3 5 x4 y - X y =13 inIR?

X X X 5
X2 1 X2 6X+5

{b] By using the formula » find in [ the solution set of the equation : X° -2 X —6 =0

E3l[al Ifn (00 =

Find n (X) in its simplest form s showing the domain of n

(Approximate to the nearest one decimal)

? 2
(2] IF e, KK g BAS oot 1, &
plajlin (X)= TR n, (X) =57 »provethat: n, =
-2
b1 =
bl n(X) R

Find : (1) The domain of n~!

Answer the following questions : (Calculator is allowed)

Choose the correct answer from those given :
(1) In the experiment of rolling a regular dic once » the probability of appearance of an
even aurnber on the upper face =

() + (b) + ) 3 (d
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(2) The set of zeroes of the function Fef (X)= ol 5 1 T
@f{1t o {-1; ©{-1-1} (&)@

(3) The point of intersection of the two straight lines X +2=0andy-3=01s ...
(@) (=2,-3) (b) (=2 ,3) (€)(29=3) (d)(253)

@IF2° %3P =mx6* sthenm= e
(a) 1 | (b) 2 (c)3 (d) 6

il oo g o 5 : o XED .
(5) The domain of the multiplicative inverse of the algebraic fraction o W

()R By R4 5} ©OR~{-2} b)) R4 —3 5}
@I (7872 ,3)=(1 sb+5) sthena+b=
(a)—1 (b) zero (d)2

B: [a] By using the general rule solve in R the equation : X (X - 1)=4 takingﬁ ~4.12
] If A and B are two events in a sample space for @ random experiment » and if
P(A)=08 s PB)=07andP(AB)=0.6
Find : (1) The probability of non occurrence of the event A

(2) The probability of occurrence one of the two events at least.

¥ (2] Find in R x R the solution set of the two equations : X —y=4 > 3X+2y=7

2
= _X°-3X+9 __ 2 —
[b] 1f nI (X) o —x3—+2_7 N 112 (.X) = mﬁ Prove that : nl = 112

fﬂ] ja] Find in R x R the sclution set of the two equations : X-y=1 » X B y2 =5
[b] Find n (X) in the simplest form showing the domain :

2 2
n (=212 ?;*—4 o ;f - and find : n (58)
K= XA X0

P X
Z_ox+1

Find : n (X) in the simplest form showing the domain.

HalIfn (X) =
B (al1fn (0 x

2 5
aX - 6X®8 . i ..
4 ¢ S
S x_a B ¢ and its

[b] If the sct of zeroes of the function f where f (X) =

domainisR—{2} sthenfind :a »b
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Answer the following questions :

(&8 Choose the correct answer :
(D Ifa<y3<b»then (@ sb)is ...
(@) (O, 1) (b) (2.5 53.5) (3 {152} (d)(23)
(2) I the curve of the quadratic function does not intersect the X-axis at any point s then
the number of solutions of the cquation f (X) =0 in R is ...
(a) zero (b) one solution. {c) two solutions. (d) an infinitc number.
(3)I‘f28 x 38 =X x 6% sthen X =i
(a) 2 (b)3 ()6 . {cd) !

(a) The set of zeroes of the function f: £ (X) =

(a) {3} (b) {-3} (©) {353}
GHFO=6X>+3X(1-2X)isa polynomial function s then its degree is ...............
(a) first. (b) second. (c) third. (d) fourth.

(8) If A and B are two mutually exclusive events of random experiment then :

(a) P(AUB) bIPA+PB) () (d) zero

B [a]IfQa+bs3)=(18sa-Db):

Find the value of aand b (Indicating the steps of the solution).
[b] By using the general formula 5 find in R the solution set for the following equation :
(X —4) (X ~2) =1 (knowing that : {2 = 1.41)

& b
X+a 2X

is)R—{0 -5} andn (3) =1 » find the values of a and b

EI [a] H the domain of the function n where : n (X) =

ib] Find n (X) in the simplest form showing the domain where :

2 - - 2
X*+4X+3 X"3+3X

la} Find » (X) in the simplest form showing the domain where :

i —; and if n (a) =— 2 s find the valuc of a
fo D X5 :
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- [b] A right angled triangle in which the length of one of the sides of right angled is 5 cm.

and its perimeter is 30 cm. Find the area of the triangle.
(Indicating the steps of the solution).

; x2_4 - x2_6x
& {alifn (X)=—5 i, s
E] o ) X2 + X6 b 9 X3 T

Prove that : n, (X) = n, (X) for all values of X which belong to the common domain

and find this domain.

[b] If A and B are two events of the sample space of a random experiment
=2 =2 =4
P(A)= 5 P(B)= g P(ANB)= 9
Find : (D P (A UB)
(2) The probability of non occurrence any of the two events.

(8) The probability of occurrence of event A only.

) El-Gharbia Governorate .

Answer the following questions :

| Choose the correct answer from those given :
(1) If the solution set of the equation X* —a X +4=0is {-2} >thena=

(a) —2 (b) — 4 S ©2 (dr4

@ Ifn(X)= i—i% s then the domain IR R T

@) $2 95} (B){%2 ,5} (OR-{-2,5} @B {2v—5}
(3) If A and B are two mutually exclusive events of a random experiment

S if P (A) = —__l; , PAUB) =5 sthen P (B) = v

(a) 4 (b 5 © L
MM D
TxPe4

@ {2,-2} (Bid-B »—0F ° e v1} ({1s-1}
(5) The point of intersection of the two straight lines 1y =2 » X+y=018 ...

(a) (4 52) (b) (2 s4) () (2 52) (dy(4 . 4)
(8) If the curve of the function f: f(X) = XruXdc passing through the point (2 5 1) »

(a) The set of zeroes of the function j pf (X )=

thcn Gl

(a) 2 (b) 1 (¢} —2 (d)—1
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a] Find in R the solution set of the following equation s using the general rule » rounding

the results to two decimal places : X (X - 1) =4

e x3 8 X+3 ; o i :
{b] Find : n (X) = s in the simplest form showing the domain.
.X +X~6 X + 2X+4 :

&¥ 1a] Find in ]R x IR the solution set of the two equat;ons y-X=2and X*+ Xy—4=0

3 +2X+i
X+ 1 l—X2

[b] Find n (X) in the simplest form showing the domain where : n (X) =

i4 ] [a} Draw the grdphlcdl representation of the function f (X} = X*= 2 X~ 3 in the interval

|2 »4] and from the drawing » find the solution set of the equation X% ~2X-3=0

[b] Find n (X) in the simplest form » showing the domain of n where : .

x2—2x+1, X—l
b b Ve o B

Bl lallfn ()= Xx° -—2)(
8 ) (X_2306%+0)

A{X)=

(1) Find n~* (X) in the simplest form and determine the domain of n
(2)If g (X) = 3 what is the valuc of X 2
[b] If A and B are two events in the sa'mplc space of a random experiment and if
P(A)=07 5> P(B)=06andP(AB)=04
Find : (1) P(A UB)

(2) Probability occurrence of onc cvent without the other.

Answer the following questions :  (Calculators are permitted)

&l [a] Choose the correct answer from the given answers :

(1) The point of intersection of the two straight lines: X +2=0and y = Xi$ ...,
() (2 5 2) (by(2-0) (L) (=25-2) (d) (0 50)

. X+ 1
@) IfFn{X)= %5 i$ an algebraic fraction s then the domain in which the fraction has

multiplicative inverse is ...

()R- {2} byR--{-1,2} (@R-{-1}
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(é) If_theré is only one solution for the equation ;

X+2y=1land2X+ky=2inR xR ,then k cannot equal
(a)2 (b) 4 By (d)-4

[b] Find in R the solution set of the equation X (X —3) = — 1 » using the gencral formula

(approximating the results to the nearest tenth)

[a] Choose the correct answer from the given answers :
(1) If the curve of the quadratic function f passes through the points (2 50) » (=3 50)
and (0 »— 6) » then the solution set of the equation f (X) =0 iR 15 ...
@{-2+3} ®{3,2} ©{2 -3} (&) {-3,-6}

(2) The simplest form of the functionn : n (X) = ;_f such that XER - {3} is
(a) 1 (b) —1 ()3
- (3) If A is an event of random experiment » then P (A:) =
(a) 1 (b)-1 (c) 1 -P(A) (dPA)-1

[b]If (a»2Db)isa solution for the equations 3 X~y =5 and X+ y =— | » find the value
of aand b

- ) | x2_4 X2 _x_
\B* [a] n , 21, are two algebraic fractions such that : 0, (X) =i and n, (X) = =-
X

Ty

Prove that : n, (X) =n, (X) for all values of X which belong to the common domain

and find this domain.

[b] Find in R x IR the solution set of pair of equations : X +y =3 and X ZiXy=6
P q ¥ Y

X NS x-2
Z 4 AN X 3K D

B ialitn 0=
X

Find n (X) in simplest form showing the domain of n -

[b] Find n (X) in simplest form showing the domain of n , such that :

x-xPo2x  xXP+2X-15

3 3 5 » then find n (7) s n (3) if possible.
X°=5X+6 X +6X"+5X

n(X)=

- s o L el s o " —
|B [a] If f, (X) = ﬁg s and the set of zerocs ol j‘l 18 {5} » and the domain of f, is & - {3}

then find the valuesof aand b
X =]

I f, (0 =2

s then find j"l (X)+ £, (X in the simplest form.
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[b}If A and B are two events in a sample spaée of a random experiment and
PAY=07 5 PB)=06andP (A B)=04,then find :
(DPAUB) '

(2) The probability of occurrence ol one of the two events but not the other.

~Ismailia Governorate !

Answer the following questions : (Calculators are permitted)

BB Choose the correct answer from those given answers :
(1) If the age of a man now is X year » then his age after 5 years from now is ..........

(a) X-35 (b)5-X )5 X (D X+5
(2) The set of zero is of f where f (X) = X (X 2 N NUSYE. ...........
@401} (by{0 -1} ©4-1-1} ({0,1,-1}
@G >X-4)=(ys3) sthen X+ y = oot
() 25 (by 12 ()8 (d)6
(4) Number of sotutions of the two equations: X +y =2 5 y—3=0togetheris ...
(a) 3 (b) 2 () 1 (d) zero
(5) If A and B are two mutually exclusive events s then P(A—B) =
(a) zero (b) P (A) ()P (B) . (d)P(AUB)
(8) If the curve of the function f where f (X)= X% —a passes through the point (1 50)
sthen a =

(a) - 2 (¢) zero . (d)1

& 12] Find the solution set of the following equation in R :
KL R = (knowing that : {5 = 2.2)

24
b} It n (00 = —F-=2X

X°=-5X+6

Find : n~* (X0 in the simplest form showing the domain of n

a] Find in IR X R the solution set of the following two cquations (algebraically)
X4+y=3 » X2+Xy:15

X 4X+16
X4 x%-1p

[b] Find n (X in the simplest form where : n (X) =
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¥ [a) A classroom consists-of 40 students » 30 of them succeeded in math. 24 in.science and .
20 in both math. and science. If a student is chosen randomly.
Find the probability that this student is :

(1) fail in math. (2) succeeded in math. or science

[b] Find n (X) in the simplest form showing the domain of n :

, ' 2 ]
[@ [a] Find n (X) in the simplest form where : n (X) = -'%*'i +% 12

[b] Find in R x R the solution set of the following two equations (graphically) :

y:3x—] ’ X—~y+1:zer0

8 Suez Governorate

Answer the following questions :  (Calculators are permitted)

EB Choose the correct answer from those given : |
(1) The set of zeroes of f where f (X} = (X - !)2 (004 2 18 commsrmsumnse
(a) 4152} (b)Y §=1 52} ei{-1+—2}F () {1,2}
(B X—y=2 3 X2uy?& 10 sthen X +y = -
(a)—5 (b)2 {¢)-2
(3) If A C S of a random experiment » P (A) = P (A\) sthen P (A) =
(a) zero (b) 1 (c) %—
(&) If X is a negative number » then the greatest number 1s ..............
(a)3+X (b)3—-X (c)3 X (d)%
(5) If X =3 belongs to the solution set of the equation : X?-aX—-6=0sthena=
(a)3 (b) 2 ) 1 (dy~1

(6) The function f where f (X) = ¢ L) has additive inverse in the domain

(2) R - {3} (by R —{4} ) R-{-4} (d}R =43}
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§ [2] Find the solutionsetinRxR:2X-y=7 5, 3X+y=8
(Explain your answer showing the steps solution)
{b] Find n (X) in the simplest form showing the domain of n where :

x2
FL % 4 X2

000 =5

s then calculate n (3)

ﬂ [a] Find in R x IR algebraically the solution set of the two cquations ;
X—sT=0 5 X24y3=10

{b] I the fraction - Xé 24 (s the multiplicative inverse m‘ v £ where X& { iz a-—2} s

then calculate h

3 [2] Find in R the solution set for the following equations by using the formula in :
X - Bida [ =0, knowing lhat\{g: 224

s o ax . +X
[lo]h‘nl(x}.-3x+3 v 1, (X)= = +2x+1PmVLthdt n,

[a [a] Find n (X) in the simplest form showing the domain of n where :

x2+2x-+ynx-J;
2 %8 Nk |

i (X)=

[b] ' A and B are two events from the sample of a random experiment and
PA)=06 s P(B)=03 » P(AMNB)=05
Find : (1) P (A UB) (2) P (B)

Answer the following questions :

ER Choose the correct answer from those given :

(1) If the two equations : X +3y=4 s X+ ay=7 represent two parallel straight lines »

then a=
(@3 b) -3 ()3

(2) The domain of the multiplicative inverse of the Iraction :

B4 =342) GO RT2 +=3 5 3} (@R=I3 y—3]}
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(3)Hx2—y ~2(X+y)suchthat X+y¢0 athenx y—
(a) 2 (b) 4 ()6

() If a die is tossed once » then the probability of appearance of an odd number equals
OF (b) 5 @1

(5) The degrec of the equation : 3 X +4y+Xy=>51is
(a) zero. (b) first, (¢) second. (d) third.

(B)HZX—] s then = 5 O s summessbes

@ % (b) < © 5 @ 55

[B) (a] Solve in R the equation : 2 X (X - 5) = | approximatc to the nearest one decimal.

[b] Find the common domain of n, (X} »n, (X) to be equal such that :

2 2
X“+9X+20 R (X):x +5X

n, (X)=
| x%-16 s %24 X

@ [a] Find in R x R the solution set of the two equations :
el 5 XE-yeB

[b] 1f n (X) = — HF L5
X

Find : n (X) in its simplest form » showing the domain of n

. 3
ﬂ [a] Find n in its simplest form » showing its domain where : n (X)= L;i : i -
X5=x] X = Xe5

[b] Use the opposite Venn diagram to calculate the probability of : ’

(1) Non occurrence of the event A

(2) The occurrence of the event B only.

(3) Occurrence of Aor B

A _m,xziix
Balitn )= (X2 (X %D

(1) Find : n" ' (X) @) ' (X) = 3 what is the value of X ?

|b] Two number » if three times a number is added to twice a second number the sum s
13 and if the first number is added to three times the second number the sum is 16 5

find the two number.
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Damietta Governorate

Answer the following questions : (Calculators are permitted)

B Choose the correct answer from the given ones :

(1) The solution set of the equation: a X2 +bX+c=0sa%0 graphically is the set of X
coordinates of the points of intersection of the curve of the function f: f (X)=a X 2 b xae
with the
(a) y-axis (b) X-axis {c) symmetric line (d) straight liney = 2

(@ Hab=12 , be=20 , ac=15 » aER" ,LDER" ,EER  sthenab = vovveevenen
(a) 360 (b) 3600 (c) 60 (d) 36

(3) If the algebraic fraction i’ have a multiplicative inverse which is K48 thena= o

8/ Hihealy X+5 A ‘ %38 B
(a) 3 (b)—5 (c)~3 (d)y5

@V2)t 432 = |
(a) 2° (b) 2 (€) =2 (d) (-2)°

(5)ILP(A)=P(A) sthen P (A) =

(@ + OF. (0

X213+ D | (B - D%+ 2.%4 B
ey (6—13¢% + XN e Y 8 T

8 (2] Find:n (X) = oo A 5~ - in the simplest [rom showing the domain of n
‘ X"=7X+12 X°~4X

[b] Find the valuc of @ and b » knowing that : {(3 s— 1)} is the solution set of the two

equations :aX+by~-5=0 » 3aX+by=17

! [a] Find in R the solution set for the cquation X (X — 1) = 4 using the general rule to the
nearest hundredth.
|b] Find the common domain of f,g ’ 3"2 to be equal such that :

;X_zf 2X~3
b,

| X2+ %12
f00=5 X2 £, 00=
. Xl N )
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(€3 [a] Two acute angles in a right-angled triangle the difference between their measures is 50°
Find the measure of each angle.

[b] Find n (X) in the simplest form showing the domain :
2
X3 3X-1
n (0 =2 2;>C+2+ 2X‘ 5
X -1 X“—=4X-5

[B] [a] If A and B are two events from a sample space of a random experiment and
P(A)=04 » PB)=05 » P(AUB)=07
Find : ()P (AN B) ()P (B-A)

I
X+—
[b] Ifn(X) = jglw Find n (X) in the simplest form showing the domain.

4x+~£

E¥] Kafr El-Sheikh Governorate.

Answer the following questions : (Calculator is allowed)

[m [a] Choose the correct answer from those given :
(DHEX=y+1 5 (X—y)P+y=3 theny=
(a) zero (b) 1
(2)Ifab=3 ab®>=12 ,thenb=
(ay 4 (by2
@HInX)= _)xc:; » then the domain of n™ !
(a) K by&-{1} (O R-
[b] Solve in R x R the two simultaneous equations :

X-y=1_5s XW=25

[EJ [a] Choose the correct answer from those given :
(1) The probability of the impossible event equals
(2) @ (b) zero () 1 (d)—1
(2) If the solution set of the equation : X2+mX+9=0is{-3} sthenm =
(a) 5 (b) 6 (c)x6 (d) zero
(3) If the two equations : X +3y =06 » 2 X+ky=12have an infinile number of
solution in J& x X 5 then k =

(a) 2 (b) 6 (d) ]
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Ib} Two acute angles in a right-angled triangle the difference between their measures is 50°

Find the measure of each angle.

&) 1a] Solve in R using the (general rule) the equation : 3 X? = 5 X + 4 approximating the

result to the nearest two decimals.

[b] Find n (X) in the simplest form showing the domain of n where :

_ 3 I 41
n(X)_X+l+ ]_x2

L3 [al If A 5 B arc two events from a sample space of random experiment » and
P (B) = 112— » P(AUB)= % s then find P (A) if :

(1) A and B arc two'mutually exclusive cvents. @BCA

o 5
[b] If n, (X) = X_g"i’z » 1, (X)=

3 2
o +4X i Prove that:nlzn2
X" X :

@ 1al1tn 0= Xz—:?_;(
(X=5) (X +1)

(1) Find n~ ! (%) and identify the domain of n”!
(I n~ 1 (%) =2 5 find the value of X

2
: XK-=3 X 2 X
i ' =% e
o L O.O x2_9 Xk 3

Find n (X) in the simplest form showing the domain of n

Answer the following questions :  (Calculator is allowed)

& Choose the correct answer from the given ones :
(DIUfFO)=2X sthen f (1)~ f(-1)=
(a) 2C10” (b) 4
(2) The two straight lines : X +5y=1 5 X+5y-8=0arc
(a) parallel. (b} comcide.
(¢) intersect and non perpendicular. (d) perpendicular.
(3) I n (X 2) =0 sthenn (X) = v -

{(ay 81 b3 (€)+3
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D
s S,

@R-{2} MR-{-2:3} ©R-{-2,2} (@WR-{-2,2,3}

(5) The degree of the equation : 3 X+4y+Xy =518 ..., —

() Hn(X)= » then the domain of n™ ! is

(a) zero. (b) first. (c) second. ‘ (d) third.
(&) A card is drawn randomly from 20 identical cards nambered from 1 to 20 » then the

probability that the number of the drawn card multiple of 7 1s

(2) 10 % (b) 15 % (c) 20 % (d) 25 %

[B) [a] Solve in R the equation : 3 X?%=5 X +4 approximating the result to the nearest

two decimals.

b] Simplify the function n (X) where :

(X L showing the domain of n

xXe DK XA

g %

Bailrf0=5— > f@=1Find:b

[b] If A and B are two events in a random cxperiment
sP(A)=07 > P(B)=06andP(A(1B)=04
Find the probability of :

(1) Non occurrence of the event A

(2) Occurrence of one of the events but not the other.

ER |a] The sum of two rational numbers is 12 » and three times the smallest number excecds
than twice the greatest number by one Find the two numbers.

2 A i
[b] ¥ n (X) = % sy B, (X)= .?_C# > then prove that: n =n
X -X X' —-X

ER |a] Solve in R x IR the two equations : X~y =1 » X ?4y%=125

X2-49  X+7
xi-g @ X-2

[b] It f (X) =

Find : { (X) in its simplest form showing the domam of [
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 Elfayou Governorate |

Answer the following questions : (Calculators are permitted)

[m Choose the correct answer from the given ones :
, 4
@ (212) =
(a) 8 (c) 32 (d) 64

(2) If A and B are mutvally exclusive events [rom the sample space of a random
experiment sthen P (A (N B) = oo

(a) 1 (b) zero (¢c) é— (d) —~1
(3) If X =1 is the solution of the equation : X?+m X+ 4 =0 ,then m =

(@) 1 (b)y -1 (c) zero (d) -5
@If2X%*=5,then6x%= |

(a) 5 (b) 10 >y, e (d) 20
G Ifn(X) = X}f—f' » then the domain of n™ !

(@yR-{0} byR-1{1} (c)R-{0,1} (R—-{-1}
(8) The sum of two consecutive mtegers is 17 5 then the smaller number of them

5, S

(a) 8 (b) 9 (¢) 17 (d) 72

x?_ﬂ; _ 2X%d

2 @ ¢

X=X 2 N4
. [b] Find in R x IR the solution set of the two equations :
y=X+1 » XZ4y*=13

R (a]1fn (0 = s find n (X) in the simplest form showing the domain of n

B} (2] By using the general rule find in IR the solution set of the equation :

X2-5x£3=0 approximating the result to the ncarest one decimal digit.

[b] Find n (X) in the simplest form showing the domain of n where :

3
n{x)=-- o R

3

Kk

a} Find in IR xR the solution set of the two equations graphically
y=X+1 » 2X+y=7
i

{b] Find the set of zeroes of the function f : f (X) = ?Jr—}- » then find 71 (2)
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(5 | [a] Find the common domain of n, andn, to be equal such that :
2 - 2 :
ni(X)= X +2X ,n(x)#x )
xR -1
[b] A bag contains 10 identical cards numbered from 1 to 10 s one card of them 1s drawn
randoml y s calculate the probability that the number on the drawn card 18

(1) A prime number. (2) A number divisible by 5

Beni Suef Governorate -

Answer the following questions :  (Calculator is allowed)

&R Choose the correct answer from those given :

(1) The probability of the impossible event equals ..............

(a) & )1 (¢) zero
(@ If2%=8 sthen X=

(a) zero (b 1 (c) 2
(3) If the two straight lines which represent the two equations :

X+2y=4 » 2X+ky=1larcparallel 5 then k =

(a) 4 (b)1 (€)1 (d)—4
(’z'-i) If a is a negative number ﬁhcn the greatest number is

(a)3 +a hH)3-a .4 (c)3a (d)%
(5) The solution set of the equation : p o B (0 R—

(@ {1} (b) {1 51} - ) @
(6) (= j((; ; sthenn™ L (1) is

(a)—1 (b) zero > (d) undelined.

@J [a] Find the set of zeroes of the function f : f (X) =X S,

[b] Find in R the solution set of the following equation by using the general formula :
X% -5 X + 3 =0 approximating the result to the nearest onc decimal digit.

@ [a] Find algebraically in R x R the solution set of the two equations :
.X “+ y = 4 4 2 X s y = 2

[b] If A and B are two events from a sample space of a random experiment
sP(AY=06 >, P(B)=05andP (A MB)=0:3

Find : (1) P(A-B) @PAUB)
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B X o=% .
&3 [a] Ifn, (X} = x;’ ;4 s "l (X) 3%+ 6
+

Prove that : n, =n,

[b] Find in R x R the solution set of the two equations :
KBl 5 x2+Xy+y2:7f

[B][a]Fmdn(X)_, ’*X+2. gx—li
Boe Kol e

in the simplest form showing the domain of n
|

[b] If the domain of the function n : n (X) =— 52—(_ -isR={3}
X =aX+9

» then {ind the value of a

El-Menia Governorate

Answer the following questions :  (Calculator is allowed)

n] Choose the correct answer from those given :
N (- 1P~ (- 1) =
(a)y—2 {b) zero () 1 (d)2
(2) The degree of the function f: f(X)}) =2 X ¥ B BT B s
(a) frouth, (b) fifth. | (¢) third. (d) zero.
(a)fa+b=7 » a2—b’=21 sthena-b=
(a)—7 (brpd \ 2y =2 (d)3
(a) The stmplest formof the Tunction [ : f (X) = ;__f WhEre X7 3 18 o
(a)3 (b) I (c)—1 () zero
(5) The number of solutions of the two equations :
X—2y=4,2X-y=1nkis
() one solution ; (b) two solutions.
(¢) an Infinite number, (d) zero.
(8) If a die 1s tossed once » then the probability of appearance of a I].ltm.ber- greater
than 4 is

<>3

al Find in ]R x IR the selution sct oi
X+y=zer0 % .5 y ~4x%=136
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[b] Find n (X) in the simplest form and determine the domain of n :

n () = — X=3 4
X2_7X+12 XI-AX

[B) [a] By using the general formula find in R the S.S. of : X%-X~4=0where{17=4.12
s X 8 X

——— 5, n,(X)=——— Provethat:n =n
2X+4 % X*+4X+4 n oL

[b] i n, () =

_ 2 :
[ﬂ] [a] Find n (X) in the simplest form showing the domain of n : n (X) = * ;}?ix; L X ;C?ll

[b] If (—~ 3 5 1) is a solution for the two equationsa X +by=5 s 3aX+by—-17=0
Find:asb

B [a] If the domain of n : n(x)mi xg islR-{0,5-2}yn@=1 Find:{ m

[b]If S is the sample space of a random experiment where its.outcomes are equal s A and
B are two events from S s if the number of outcomes that leads to the occurrence of

 theevent A = 13 and the number of 2;1511 possible outcomes of the random experiment

13249P(AUB)—~¢mdP(B i
Find :

(1) The probability of occurrence of the event A
(2) The probability of occurrence of the events A and B together.

‘Assiut Governorate = -

Answer the following questions : (Calculator is allowed)

[ER Choose the correct answer :
(1) The solution set of the twoequations : X =~1 s y—1=0mR xJis ............
@{-1-D} ®{d,-b} @{1,-D} {1 »b}
(2) The solution set of the equation : 2 X +4=0in Nis ............

@ {2} (by {-2} ({0} ()&
X =2

(3) The dommn of the fumtlon f where f (X} = x2 —~1— is
+
(@R-{-1} (b)Ei—{la—l} ()R-{1}
@WHIFACS > P(A)= - \

(@) 5
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(5) If A and B arc two mutually cxcluswe gvents 0[ a random experiment
then P (A B) = ‘

(a) 2] ; {c) zero (d) —%—

(2] [a] Find aigabrlcally the solution set of thc two equatmm
2X=~y=3 +» X+2y=4
[b] Find n (X) in the simplest form showing the domain of n where :
x2+2x+4 L X4 X2
=B K

n{(X)=

ER (21 FindinR xR the solution set of the two equations :
X—-y= | + y =25
N2-3%e8  AX-15
%2 1 B
s find n (X) in the simplest form showing the domain of n

[(b] Ifn(X)=-

(3 [a] Find in R the solution set of the equation : 3 X%~ 5X—1=0
approximating the result to the nearest two decimals.

[bilfn(X)= x—t}-ﬁ s find 0™ ' () in its simplest form showing the domain of 1™’

X + 27

o x
[a {a] If n (0 o o B il (X = ;4)6 ; Prove that : n, =n,

-

[b] A bag contains 15 identical balls numbered from 1 to 15 s one ball is chosen
randomly » if the event A is getting an odd number and the event B is getting
a number divisible by 5
Find :
(D P (A) (2) P (B) (3)P (A -B)

Answer the following guestions : (Calculatdr is allowed)

[EE Choose the correct answer :
X—-3 .

(1) The set of zeroes of the function f where f (X) = g B,

(a) {zero} (b) 13} () {-2} () {3 ,-2}
(2)1f2" =3 »then 8" =
{a) 27 ) ¢ © 3 i
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(3)If A and B are two mutually exclusive events of a random expenmunt
sthen P (AN B) =

W (c)2 | (d) zero
I3 %4 3543 %20 sthen X v |
(a) 4 (b) 2 @] | )9

(5) Il the two equations : X+3y=6 s 2 X+Kky=12have an infinit number of

solutions s then k = _

(@) 1 ©) 3 (d)2
(s) In the oppossite figure :

‘Lhe solntion setot £+ FUOE0 B o

(2) & (by {3}

(c) 1223} (d) {2}

[EJ [a] Solve in R the equation : 2 X Z 50D approximating the result to the nearest

two decimals.

_ 5> _X3+X2+X
[b} it ll1 (X) = X3 ~ xz ) 1]2 (X) = W— s provce that . ﬂi = 5

&R [a] Solve in R x R the two equations : X -2y =1 > X>—Xy=0

2
Ib] Find n (X} in the simplest form showing the domain of n where : n (X) = L A

X+ 1 XB—X

3 [a] Find in R x R the solution set of the two cquations :

2X+y=1 5 MgAY=5

e\ 02 x

[b] If n (X} = — 4. find n (X) in its simplest form showing the domain of n
X

=2

[EA| fa] If n (X) == e

Find : (1) n™ ' (X) showing the domain of n”! (@)n 1 (3)
{b] Il A and B are two events in a random experiment

' P(AY=07 5 P(B)=06and P(AMNB)=04

Find : (1) P (A U B) - (2)P(A-B)
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. Qena Governorate

Answer the following questions :  (Calculators are permitted)

&R Choose the correct answer :
(1) If there are infinite numbers of solutions of the two equations
X+4y=7 5 3X+ky=21I sthenk=
(a) 4 (b) 7 (d) 21
(2) One of the solutions for the two equations : Xy =2 » X2 4y =20108 oo,
(a) (—4 »2) b)Y 2 --4) (c)(3 s 1) (d) (4 +2)
(3) The set of zeroes of f where f (X)=X?—-21is
(@ {2} ® {-2} (D
Ax> 2 %
Z2X
(a)4 X° (b)2 X—1

(5) If A and B are two mutually exclusive eventssthen P (A (1 B) =

(a) & {(b) zero (c)0.56
GYHACBsthenP(AUB)=

(2) zero (b) P (A) ) P (B) @ PANB)

(a) The simplest form of f (X) =

& [a] Find in R x R algebraically (he solution set of the two equations :

2X—)’:3 X+2)’:4

; X Xd I

il X) = ; » o - . T 5 at - i
,lb] n_l( ) Tk n, (X) ST P Prove that o=,

Il [a] Find in R the solution set of the following equation by using the general rule :
3 X% =5 X~ I (Rounding the results to two decimal places)
[b] Find n (X) in the simplest form showing the domain of n where :

2 2

[a] Find in R x R algebraically the solution set of the two cguations :
Xyyed s Xy=l2
] Find n (X) in the simplest form showing the domain of i where :

3 X4 2 X+ 6
X"=-5X+6 X +X-06
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alIf — 2%
[E]H n(x) (X - 2)(x2+2)

(1) Find n~ ! (X) and identify the domain.
(@) Ifn~ ' (X) = 3 what is the value of X ?

b} if A and B are two events from the sample space of a random experiment and
P(A)=07 > P(A(1B)=0.3 Find: P(A-B)

Luxor Governorate

Answer the following questions :

[ED) Choose the correct answer :
(1)The set of zeroes of the function f : f (.’)C) x24+315 .. )....
(a) {0} (©) 13} (@ {3 ,-3}
@V16+9=4+
(a)3 , N (d)7
() It A is the complement event of the event A in a sample space of a random experiment
sthen P(A)+P(A) =
(a)2 (b) 1 © =+ (@3
(3% =1 sthen X = v
@0 (b) 5 @1 ()3
(5) The point of intersection of the two straight lines:y=2 5 X4+y=61iS ...
(2) (2 »4) (5) (2 »6) ) (6 - (dy(4-2)
&I S s X—-4)=(y+2:3)sthen X+y=
(a) 6 (b) 8

B. {a] Find the solution set of the two cquations in B2 %Y )

xX%_16
[b]If n (X) = e

Find : (1) 1 (%) showing the domain of n~ : (2)n” Ly (3)n 4)

BB [a11fn, 00 =

ZX g i, LX) = sl Provethat :n. =n

2X+4 ¢ KoLl i .

[b] Using the general rule find in R the S.S. of the cquation :
3x%=5x -1 given that{/13 = 3.61)




st et G (1) P o) Gsboh ) it Algeb ra ol cbbe

BB [aj1fA,-B am two events of the samplc space of a random experlmcnt and 1f
P(B)““ Ty 0 P(AUB)“ a3
Find P (A) in the iollowmg €ases :
(1) A and B are two mutually exclusive events

2
bl Ifn (0= *X 25“’(
| 6X+5

Find n (X) in the 5lmplest form showing the domain of n.

E][q]lfnm_ = R, -
=2X%L XTFEXal

Find n (X) in the simplest form showing the domain

[b] Find graphically in R x R the S.S. of the two equations :
y=X+4 » X+y=4

_Aswan Governorate

Answer the following questions : (Calculators are permitted)

ER Choose the correct answer from those given :

(OHEX+y=5sthen3X+3y=-inn
(a) 5 (b)3 ; ' {d) 15

(2 HY64+36=8+ X sthen X =
(a) 9 (b)6 : 5 (d) 10

(3) The solution set of the two equations : y—5=0 s v+ X=0mnExRis ...,
@159} . ®)E -9 (©){(0>5)} (=559

(4) The set of zeroces of the function f : fF (X} =41S oo
() {-4} (b) {zero} ()@ @ {2}

(5) If the probability that a student succeeded is 95 % » then the probability that he does not
Suceeed 15 o

(a) 20 % (b)S % (¢) 10 % (d) zero
(6) The solution sct of the cquation : X* =4 X +4=0inRis ... |
(@) { 2} () {2} ({41 ()P

[a] Find in lR x IR algcbrancally the sulutnon set of two tquatmns
X+y=4 5 2X-y=2

e = B : ; ; |
B IIn{X)= i? find n~ ! {X) and identify the domain of n '
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[b] Find in R x R aigebraically the solution set of the two equations :
%-Dy=0 5 X~y =3

, find n (X) in the leplest form showing the domain of n

[a] If A and B are two events from a sample space of a random experiment and
ke = ok
PA)=5 » P(B)=3
Find P (A UB)if :
MPANB) =5

(2) A and B are mutually exclusive events.

& + i , find n (X) in the simplest form showing the domain of n

bl if n —
{b] i n (%) TR

3 [a] By using the formula find in R the solution set of the equation

3 x2 -5 X+ 1 =0 rounding the result to two decimal places.

[b] Find the common domain in which the two functions n, and n, are equal where :

2
i Popaaa X’ ek
bt R 1

9] South Sinai Governorate. |

Answer the following questions :  (Calculator is permitted)

EB Choose the correct answer from those given :

(1) The number of solutions of the two equations : X+y=5andy -5 = 0 is
(a) Zero (b) 1 {c)2 (d)3

(2) The pqint (=3 ,54) lies n quadrant.
(a) fourth | (b) third (c) second (d) first

(3) The range of the set of the values : 7 s3 56 »9 and 5 equals ..............
()3 {¢)5 (d) 6

(@) =3X)x(=3%)=
(a) 15Xy (b)8 Xy ()-8 Xy (dy—15Xy

(5) If the [raction §—+ 3 is the multiplicative inverse of —;CC::— s thena =

(@) — 3 (b) -3 (c) 3 (d)5
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() If A an.d B are IWO mutuélly éxciusi\& c-\?et’itﬁ then P (A [ B) equals
@@ (b) zero (©) + (d) 1

[E] Find n (X) in the simplest form showing the domain of n where :

- X X X~-5 X 2X x 3X+9
M (== s @ niRy =it Tt
Pu] KA 6X4S R X+2

[E [a] Find in R x R the solution set of the following two equations graphically :
y=X+4 5 y+X=4
[b] By using the formula find in IR the solution set of the equation : 2 X 25 X—1=0

approximating the result to the nearest one decimal.,

Y (2] Find in R x R the solution set of the following two equations :
Xey=1 5 X*=Xy=0
[b] Use the opposite Venn diagram and find ;
(D P(ANB)
(@ P(AUB)
@P(A-B)

I_BJ [a] If the domain of the function n where n (X) = e R—-{0,3}

s 11 (6) = 7 find the vatues of a + b

\ J NN X
[b] It nl (X) = _)C____}__ . l’l,) (9&) 2 _%

s then prove that
1 - % 4 |

Answer the following gquestions :  (Calculators are permitted)
§8 Choose the correct answer from those given

V2

(1) The multiplicative inverse OfT -
A2 32
(&) \[ (b)é{-

(2) The §.S. of the two equations : X -2 y = | 3X+y=10nR xR is
@ {(5,2)} ) {2 4)} © {53} D {G D}
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(3) Twice its square the number L usamnnins

2 3 ;
@-% ©) 5 - ) (@1

(a) The dom’un of the functlon FrfiX) = 7 - TEe—

(@R (byR-{2} ©R-{7} S (DR-{2,7}
(5) X% +k X+ 9is aperfect square if k = -ovoouvinn.

(a) 3 (b) -3 (e)E3 d=x6

(s) If the probability of failure of a student is 0.4 » then the probability of his success

(b) 1 ©) % @ 2

[E] [a] Using the general formula - find in R the solution set of the equation :
X% TX =0

[b] Find n '(x) in the simplest form showing the domain of n where :

X+4
n{(X)=
X 4 x2_16

[E} (2] Find in R x R the S.S. of the following two equations :
X-y=2 5 X*-5y=4

& g
[h] If n () _M
2P 55

(1) Find : n~ ! (X) and find the domain of o~ (2) Ifn~ (X) =2 4 find value of X

€2 laj Find in R x R the S.S of the followmg two equations graphlcally
Y= 2X-3_ 3 X+2 y= 4
[b] Find n (X) in the simplest form showing the domain of n where :

%78 % eaXtaax
XP-6 X485 DX X3

n(X) =

[ (2] A bag contains 15 balls numbered from 1 to 15 5 if a ball is drawn randomly
s if the event A is getting an odd number and the event B is getting a prime number

Find : (1) P (A) (2)P (B) @ P(A-B)

P b
Ih,lltnI ()C_)—ZX+4 ) 1, (X)= X Y

Prove that : n, =n,




Answer the following questions : (Calculator is permitted)

B Choose the correct answer from those given :
CDE e T —
-, :
el ® g ©) 5 ()9
(2) If A and B are two mutually exclusive events in a random expetiment
sthen P(A[)B) = ooriernn.

(a) zero (b) & (c) 1

(3) The solution set of the inequality : X< 1 in N is

(a) {1} (by {0} (© {0 514 ({0s15-15..}

2
(a) The set of zeroes of f where f (X) = 3; - 29 1S ..

(a) {2} ()R- {2} ()13 -3} () {3,-3,2}

2
X+

(a) )§ (yR-{-3} ©OR-{-3,7} (HR-{7}

(5) If n(X)y=

(8) The point of intersection of the two straight lines : y =2 and X+ y =618 ...

(a) (2 +6) (b (2:4) (c)@ -2) () (652)

- [a] Find the common domain in which the two functions f and f, are equal where ;

o X NG x2_1
X =4 = Xc=3X+2

[b] Find in R x R the solution set to the following two equations graphically :
y=X+4 s X+y=4

| [a] Find f (X) in the simplest form . showing the domain of f where :

2
f (_’x) xS “?C.?"_-.- X
X =1

[b] Find in R the solution sct of the equation : X 2_2X-6=0

approximating the result to the nearest two decimals.




ol aesi iz (7)) 18 oA oot et i) AlgED A olt) bl

(Y [a] Find n (X) in the simplest form showing the domain of n where :
| Yogmmn . K5 . '
K=l Kol X 15

n(x)=

[b] Find in R x R the solution set of the two equations :

y=X-3 » X°+y*=17

R (2] If the set of zeros of the function f where :
F(X)=aX?+bX+8is {24} Find the value of a and b

[b] If A and B are two events in a ranidom experiment
sP(A)=08 > P'(B) =07and P(A(NB)=0.6
Find : (1) The probability of non occurrence of the event A

(2) The probability of occurrence of at least onc of the events.
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